O % ’b 2 Berikna procentsatser i decimaler

namn: Datum: Poing:
3,12 x 90% = 2,82 x 40% =
5,42 x 30% = 0,47 x 70% =
9,62 x 20% = 0,99 x 80% =
0,04 x 90% = 1,58 x 30% =
4,2 % 50% = 3,65 x 20% =
4,12 x 60% = 9,69 x 50% =
2,1 % 30% = 2,61 x 50% =
8, 54 x 60% = 5,84 x 60% =
4,56 x 70% = 2,92 x 80% =
6,08 x 10% = 2,89 x 70% =
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Berékna procentsatser i decimaler

namn:

3, 12 x 90% = 2.808

5,42 x30% = 1.626

9,62 x20% = 1.924

0,04 x 90% = 0.036

4,2 x50% = 2.1

4,12 x 60% = 2.472

2,1%x30% = 0.63

8,54 x 60% = 5.124

4,56 x70% = 3.192

6,08 x 10% = 0.608

Datum:

2,82 x40% = 1.128

0,47 x70% = 0.329

0,99 x 80% = 0.792

1,58 x30% = 0.474

3,65 x20% =0.73

9,69 x 50% = 4.845

2,61 x50% = 1.305

5, 84 x 60% = 3.504

2,92 x 80% = 2.336

2,89 x70% = 2.023
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